





Hardware - Push-In Wire Clips (Group 17)

1/4" - 3/16" Hole size.
1/2" x 1/2".

1/2" Head diameter.
5/16" Hole size.

1/2" Head diameter.
1/4" Hole size.

5/8" x 5/8" Head.
5/16" Hole size.

3/4" Head diameter.
5/16" - 3/8" Hole size

3/4" x 15/16" Head.
5/16" Hole size.

71

11/16" x 9/16" Head.
5/16" Hole size.

1" x 7/8" Head.

5/16" - 3/8" Hole size.

MC21 e $0.50 ea.
MC21B Box 50....... $25.00 ea.

7/8" x 7/8" Head.
5/16" - 3/8" Hole size.

1" x 1 1/8" Head.
5/16" - 3/8" Hole size.

5/8" x 5/8" Head.

1/4” to 5/16" Hole size.

Tabs can be bent or cut to fit
smaller moldings.

MC54 ... $0.50 ea.
MC54B Box 25......... $7.75 ea.



Group 17) Hardware Section

Moulding Clips Threaded Type, (Nuts Included)

—7/8"—

YA 10-24 x 3/4" stud.
MC63......... $0.75 ea.
MC26B

Box 50....... $18.75 ea.

10 - 24 x 3/4" stud.

MCG6........... $0.75 ea.
—13/4~—
S
- /-"".
Ug_ﬁ 10 - 24 x 3/4" stud.
MC69........... $1.00 ea.

8 - 32 x 1" stud.

10 - 24 x 1/2" stud.

10 - 24 x 5/8" stud.

1 3/4—

-y

* ——— Adjustable.
10 -24 x 5/8" stud.

MC70........... $1.25 ea.

MC72........... $0.50 ea.

MC75........... $2.75 ea.

MC64........... $0.75 ea.

2 12—
——— 12 - 24 x 7/8" stud.

o MC73........... $1.00 ea.

F—15116~—

- —

= 10 - 24 x 3/4" stud.

MC6S8........... $0.75 ea.

F—17/8"—
e 10-24 x 5/8" stud.

—

I T MG, $0.75 ea.

Universal
Break-Off Type

10 - 24 x 3/4" stud.

MCT e $1.00 ea.

72

Door Panel Fasteners

—— Head Dia............... 3/4”
Stem Length.......... 1/2”

Fits Hole Size........ 1/4”
DPF1............ $0.50 ea.

—~ HeadDia............... 718"
: Stem Length.......... 3/4”
Fits Hole Size........ 1/4”
DPF2............ $0.50 ea.

—~. Head Dia............... 3/4”
7 Stem Length.......... 3/4”
Fits Hole Size........ 1/4”
DPF3............ $0.50 ea.

Head Dia........... 15/16”

Fits Hole Size........ 1/4”
DPF4............ $0.55 ea.

Head Dia........... 15/16”
Stem Length........ 5/16”
Fits Hole Size....11/16”
DPF5............ $0.50 ea.

%g Stem Length....... 11/4”

> Head Width. ........ 7/16”
)- DPFG6............ $1.00 ea.

Head Width. .......... 5/8”
DPF7............ $1.00 ea.

Head Dia............... 1/2”
Stem Length.......... 3/4”
Fits Hole Size........ 1/4”
DPF8............ $0.25 ea.

Misc. Retainers

Head Dia. ............ 7/16”
Stem Length........ 7/16”
Fits Hole Size........ 1/8”

WF2...oo. $0.75 ea.
Head Dia. ............ 7/16”
Stem Length.......... 5/8”
Fits Hole Size........ 1/8”
WF3...oovn. $1.00 ea.
Head Dia. ............ 9/16”
Stem Length.......... 3/4”
Fits Hole Size. ....... 1/8”
WF4. ..o $1.00 ea.



Hardware Section (Group 17)

Push-In Clips

Nylon Clips

F 16" - 3/8" hole.
or 5/16" - 3/8" hole Push into oval holes in panels,

A= MCAT ......$0.75 ea.

RN
-
7/16”
D EI]
" / l
5/16" hole. )
MC49........ $0.75 ea. MC84 .............. $2.25 ea.
RN
-
9/16
Ol
1 1/4"— . o4
e, For3/ghole. MC85............ $2.25 ea.
MC50.....$0.75 ea.
N
J T
F—1 3/4"—| \ J'
= For 3/8" hole. MCS86.............. $2.25 ea.

MC51 .....$2.25 ea.

Universal Wire
Moulding Clips
Push-in Type

MC600............ $1.00 ea.
5/16" - 1/2" Moulding.
3/8" Hole size.
MC29 ......cccuve. $0.50 ea.
MC29B..Box 50..$12.50 ea.

73

then moulding snap over them.

Chrome Trim Screws

S B

#6 Chrome Plated Phillips Oval Head

TS612...ccciee 6X1/2” i $0.25
TS658........cc..... 6Xx5/8” ... $0.25
TS634........c.... 6x3/47 ... $0.25
TS678.......ccee. BX7/8” ... $0.25
TS6100................. BX1” i $0.50
TS6114............... 6x11/4”............ $0.50

#8 Chrome Plated Phillips Oval Head
TS8386....8x3/8” w/ #6 Head....... $0.25

TS812...ccie. 8Xx1/2” v $0.25
TS8126....8x1/2” w/ #6 Head....... $0.50
TS858.....ccceee 8X5/8” ... $0.25
TS8586....8x5/8” w/ #6 Head....... $0.25
TS834.....ccc. 8X3/4” ... $0.50

TS878.....cocce 8XT7/8” ... $0.50
TS8786.....8x7/8” w/ #6 Head......$0.50
TS8100................. 8X1” e $0.50
TS81006.....8x1" w/ #6 Head....... $0.50
TS8118................ 8x11/8"........... $0.50
TS81186..8x1 1/8” w/ #6 Head....$0.50
TS8114.............. 8x11/4”............. $0.50
TS81146..8x1 1/4” w/ #6 Head....$0.50
TS8112.............. 8x11/27............. $0.50

TS81126..8x1 1/2” w/ #6 Head....$0.50
TS81346..8x1 3/4” w/ #6 Head....$0.75

TS1012............. 10x1/27 ... $0.50
TS10128...10x1/2” w/ #8 Head....$0.50
TS1058............. 10x5/8” ... $0.50
TS1034............. 10x3/47 ... $0.50
TS1000............. 10XT” $0.50
TS10008...10x1” w/ #8 Head....... $0.50
TS10114........... 10x1 1/4” ... $0.50

TS101126.10x1 1/2” w/ #6 Head.$0.50
TS10134.10x1 3/4” w/ #6 Head.$0.750



Group 17) Hardware Section

Windshield and Backglass Moulding Clips

1969-1975
T 1969-1970:
LeSabre and Wildcat

T two door models.
Backglass. 22 per car;

1971-1972: All Electra, LeSabre and
Wildcat four door hardtops.
Backglass. As required;
1971-1972: All Electra. Backglass.
As required;
1973-1975: All windshield. Backglass
and 1/4" glass. As required.
MC32...cmiiieiieceeeeieeee $0.75 ea.

©
-
-
-~

1963-1965 Windshield &
back glass. 26 needed per
car.

* 1963-1966

................. $1.00 ea.

w—m. T 1968-1971.
/’"‘ ~f‘ % 1968: All with soft
L © roof trim.
.J.&ﬂﬂJ 1 Windshield upper
and side.
Backglass. As required;
1969-1971: All windshield and

backglass. As required.

MC33.eeeeeeeeeeee, $0.75 ea.

1968-1973 All windshield and
Backglass (Emergency) As required.

MC35...ii $1

.00 ea.

1965-1968

All windshield
and Backglass.
As required.
............................... $1.00 ea.

1966-1975
All as required.
Windshield and
Backglass.

>
i

(Emergency - screw-on type).

1974-2015
All as required.
MC101....... $1.00 ea.

Other Windshield - Backglass Clips (Use as required)

Fijs I i A T windshield & backglass

I F'““"IW ﬂw < 4 \ ¥ 4 t‘ — clips. Use as required.

.I. . I|uu i T s L MC41.... $0.75 ea.
Windshield & baclfglass l Windshield & backglass
clips. Use as required. : clips. Use as required.
MC43..ovevrvvve $0.75 ea. T MC44 ... $0.75 ea.

Windshield & backglass
clips. Use as required.
MC42.............. $0.75 ea.

Windshield & backglass
clips. Use as required.
MC39.............. $1.00 ea.

—7i8"—  +—3/4"—

Window Rollers (see also window bearings on next page)

1 1957 thru 1972
a = all as required
1

1 WR576...$3.25 ea.

15/16"

M6

1968 thru 1978 all as

WR682

- 1

1972 th

WR727

—11/16"—

required. 11/64” id.

. required. 7/16” wide.

......... $6.50 ea.

15/16"

ru 1999 all as
5/16"

......... $2.25 ea.

74

15/16"

-

5/16"

7/8"

1/4-20

11/16 wide

+15/16"—

1978 thru 1995 all as
required. 5/16” wide.
WR785.....$6.50 ea.

1968-1975 as required.
5/16” wide.
WR685...$16.00 ea.

1979-2004 as req.
With metal insert.
WR790.....$3.75 ea.



Hardware Section (Group 17)

‘ g s Tubular Nuts |
(8.921) '

For attaching monograms,
emblems, etc. with studs. Measure
your pin diameter and the size of
the hole. Consider nylon tubular
nuts. Although not original, they will
not rust or chip paint.

Stud size 1/16”................ Hole size 9/64”
TNT...ooee Nylon ......cccveeunenee. $0.50 ea.
TN1P.......... Pack of 25..........c......... $7.75
Stud size 3/32” ...l Hole size1/8”
TN2...coee. Steel ......ccccvveenn.. $0.25 ea.
TN2P.......... Pack of 25..........c......... $6.75
Stud size 1/8” .................. Hole size 5/32”
TN3..cooeeee Steel .ovviveiieen, $0.25 ea.
TN3P.......... Pack of 25..........c......... $6.75
Stud size 5/64” ................ Hole size 5/32”
TN4.............. Nylon ....c.ccovveunenee. $0.50 ea
TN4P.......... Pack of 25.........ccc........ $7.75
Stud size 1/8” ................ Hole size 11/64”
TN5.......c.... Nylon ......ccovveuneeee. $0.50 ea.
TN5P.......... Pack of 25.................... $9.75
Stud size 1/8” .................. Hole size 3/16”
TNG.............. Steel..ocovveeennnnnee $0.50 ea.
TNG6P.......... Pack of 25..........cc........ $9.75
Stud size 1/8” .......cccuunne. Hole size 1/4”
TN7..ooenen. Steel....covvveeennnnee $0.50 ea.
TN7P.......... Pack of 25..........cc........ $8.75
Stud size 5/32" ................ Hole size 7/32”
TNS8......oc...... Steel.....ooovveeeennn.. $0.50 ea.
TN8P.......... Pack of 25.................. $12.75
Stud size 5/32” ................ Hole size 3/16”
TNO....coeee. Nylon .....ccccoeeeieen. $0.50 ea.
TNOP.......... Pack of 25..........c......... $7.75
Stud size 3/167................ Hole size 7/32”
TN10.....c....... Steel.coovveeeinn $0.50 ea.
TN10P........ Pack of 25..........c......... $8.75
Stud size 3/16”.............. Hole size 13/64”
TN, Steel.ovvveeeinnns $0.50 ea
TN11P........ Pack of 25.........ccc........ $8.75
Stud size 1/4” .................. Hole size 5/16”
TN12...ooe. Steel.vvveneeennns $0.50 ea.
TN12P........ Pack of 25..........c......... $9.75

Flat Nuts (8.921)

For attaching monograms,
emblems, etc. with studs.

Measure your stud diameter.

FN1.. 116" $0.25 ea.
FN1P.......... Pack of 25................ $4.75
FN2.............. 332" $0.25 ea
FN2P.......... Pack of 25................ $4.75
FN3....coei 187 i, $0.25 ea.
FN3P.......... Pack of 25 ............... $4.75
FN4............. 532" .o $0.25 ea.
FN4P.......... Pack of 25 ............... $4.75
FN5............ 3167 . $0.25 ea.
FN5P.......... Pack of 25................ $4.75
FNG............. 1A i, $0.25 ea
FNGP.......... Pack of 25................ $5.75
FN7. oo 516" .o $0.25 ea.
FN7P.......... Pack of 25 ............... $5.75

Round Flat Nuts (8.921)

.............. 1/8”.......$0.25 ea.
Pack of 25 ...$5.75

FNO.....oooi 316" .......... $0.25 ea.
FNOP.............. Pack of 25 ............ $5.75
Cage Nuts /"U" Nuts
(8.155)

1935-1960 All as
required. Cage nut.
CN363........... $3.25 ea.

; For 5/16"-18 Screw.

! Range - .025" - .060"
Center of hole to edge -
9/16"

UNT e $.50 ea.
UN1B........ Box of 50 ........ $17.00 ea.

For 3/8"-16 Screw.
Range - .050" - .200"
Center of hole to edge -
3/4"

UN2 ., $.75 ea.
UN2B........ Box of 25 ........ $15.00 ea.

75

Thread Cutting Nuts

Sold in packs of 25 pieces (8.921)

For 1/8" stud. 5/16" Hex.
7/16" washer OD. Zinc plated.
TCN18516 ....eeeeeeeenee. $4.25 pack

For 1/8" stud. 1/4" Hex. Zinc plated.
TCN1814 ..o $4.25 pack

For 5/16" stud. 1/2" Hex.
7/8" washer OD. Zinc plated.
TCN51612 ..o $4.25 pack

For 5/32" stud. 11/32" Hex.
9/16" washer OD. Zinc plated.
TCN53238 ......ccvveeeee $4.50 pack

For 3/16" stud. 3/8" Hex.
1/2" washer OD. Zinc plated.
TCN31638 ..o $4.25 pack

For 1/4" stud. 7/16" Hex.
9/16" washer OD. Zinc plated.
TCN14716 ..o $4.25 pack

Window Bearings

1968-1974 as required. low

’ profile. 1 7/32” dia.
WB684A $3.75

1968-1974 as required.
1”7 dia.
WB684B................... $3.75

1968-1974 as required.
1” dia. high cap.
WB684C................... $3.75



Buick License Plates

Laser Cut License Plates Silk Screened License Plates
These beautiful license plates are made of durable high Heavy gauge embossed aluminum plate.
impact acrylic and are approximately 3/16" thick. Hand
inlaid design.
1913 Buick Logo Buick Tri-Shield

Black acrylic with bright red square. The "Buick" is shiny LE’?CK with white shield and white "BUICK" Iette$riqng.5

white and blue inlay. LP8 . .................. $25.75 LPA oo $9.75

o BUICK

GRAND
INATIONAL

Black plate, red and yellow "6" with gold lettering.
LP6 .. $9.75

76



Buick License Plates - Frames and Accessories

License Plate Frame Solid Brass

B

These heavy, solid brass frames have "BUICK" stamped
in the center flanked by the buick tri-shield. Gold & Chrome
(pictured) available.

Gold - LP13
Chrome - LP12

License Plate Grand National

GRAND ATIONAL

' ¥ 8 F N
o e
5 .9 B=B40 7 r.1 THE BONE

Bad to the bone.
LP19

License Plate Cover Bubble Cover

Protect your License plate with this clear see-thru bubble
cover.
LP14

77

"GO BUICK"

D_ rielr -

The Better Huy

These were found recently in the back room of an old
Buick Dealership in Bayonne, NJ. Estimates are that these
were from the 1970's.

LP18

shiny
stainless
steel

Shiny Stainless Steel license plate with clear lettering.
Tri-Shield is red, white and blue.

LP10 (Clear Letters) ...................... $25.75
LP11 (GOLD Letters) . .............cooon... $25.75
LP20 (BLACK Letters) ..................... $25.75



Index

A
Air Cleaner Identification 9
Air Conditioning 49
Compressor 49
Antenna 49
Assembly 49
Lead 49
Mast and Tube 49
Retaining Nut 49

B

Body Molding 60
Body Mounting 47
Body to Frame Mounting Pad 48
Brakes 33
Brake Booster Hose Pinch Clamp 33
Brake Booster Vacuum Check Valve 33
Cable 36
Cylinder 34
Disc Brake Caliper Repair Kit 34
Hose 35
Master Cylinder 34
Master Cylinder Rebuilding Kit 34
Overhaul Kit 33
Pedal 36
Pedal Pad 36
Power Brake Rebuilding Service 33
Shoes and Disc Pad Set 35
Spring Kit 35
Stop Light Switch 36
Wheel Cylinder Repair Kit 34
Bumper 43
Filler 44
Insulators and Grommets PB 44

C

Carburetion 28
Carb. Mounting Gasket 29
Carburetor Kit 28
Carter Baffle Plate 28
Carter Carburetor 28
Choke Stove Pipe Replacement Kit 28
Rebuilding and Restoration Service 28
Rochester Carburetor 28
Carpet 69
By the Yard 69
Custom Form Molded Carpet Sets 69
Door Panel Bottom 69
Jute Padding 69
Cooling 12
Fan Belt 13
Fan Shroud 13
Hose Clamp 12
Radiator Cap 12
Radiator Hose 12
Temperature Sending Unit 13
Thermostat 12
Water Manifold Gasket Kit 13
Water Pump 13
Water Pump Mounting Gasket 13
Wire Hose Clamp 13

78

D

Decals 10
Air Cleaner 10
Air Conditioning 11
Emission 11
Exterior 11
Interior 11
Valve Cover 10
Dome Lens 57
Door and Roof Rail Weatherstripping 51
Door Weatherstrip Set 51
Roof Rail Weatherstrip Sets 51
Weatherstrip Kit 51
Window Channel Kit 51
Door Sill 57

E

Electrical 18
Alternator Brush Set 23
Alternator Contact Rubber Boot 23
Alternators 23
Back-up Lamp Part PB 24
Battery Bolt 17
Battery Cable 16
Battery Clamp 17
Battery Part 16
Bulbs 26
Distributor Knock Sensor 19
Distributor Rebuilding Service 23
Headlamp Motor Repair 24
Headlamp Switch PB 26
Headlight Bezel Nut PB 26
Headlight Bulb PB 26
Headlight Dimmer Switch PB 26
Headlight Support Pad PB 26
Horn Blowing Contact Spring 23
Horn Relay 23
Horns 23
Ignition Coil 19
Ignition Lock Cylinder with Keys 20
Ignition Wire Set 19
Key Blank 20
Key Cap 20
License Lamp Gasket PB 24
Nylon Wire Loom 16
Signal Flasher 19
Spark Plug 19
Spark Plug Wire 22
Spark Plug Wire Part 19
Starter Brush Set 18
Starter Drive 18
Starter ID Tag 18
Starter Rebuilding Service 18
Starter Solenoid 18
Starter Solenoid Repair Kits 18
Tail Lamp Bezel PB 24
Tail Lamp Gasket PB 24
Tune-up Kit 19
Tune-up Part 19
Turn Signal Lever 19
Universal Coil Bracket 19



Index

Vacuum Advances 23

Voltage Regulator 18

Wire and Cable Retainer 18

Wiring Harness Tape 16, 19
Engine Enamel 8

Engine Compartment & Chassis Paint 8
Engine Parts 2

Breather Tube 6

Connecting Rod 2
Bearing 2

Crankshaft Main Bearing Set 2

Flywheel 4

Freeze Plug Kit 4
Gasket 7

Cylinder Head 7
Full Engine Overhaul Gasket Set 7
Push Rod 7

Valve Cover 7
Harmonic Balancer 3

Bolt 3

Hydraulic Valve Lifters 7
Motor Mount 2

Oil Slinger 5

Push Rods 7

Rocker Arm 5

Assemblies 5
Rebuilding 5
Retainer 5
Set 5

Shaft 5

Timing Chain Cover 2
Timing Chain Set 2

Timing Cover Gasket Set 2
Timing Cover Seal 2

Valve 4

Cover 6
Exhaust 4
Guides 4
Intake 4
Spring 4
Spring Retainer 4
Valve Rocker Cover 6
Exhaust 30
Manifold French Lock 30
Manifold Gaskets 30
Part 30
Exterior Door Parts 52
Door Handles and Gaskets 53
F
Floor Mat 69

Front Fender 46
Monogram 46

79

Moulding Clip 46
Patch Panel 46

Front Vent 50
Cowl Seals and Clips 50
Weatherstrip 50

Fuel 29
Air Cleaner Heat Pipe 30
Air Cleaner Part 30
Air Filter Element 30
Breather Tube 30
Crankcase Ventilation Filter 30
Filter 29
Fuel Pump 31
Fuel Pump Block-0ff Plate 31
Fuel Pump Hardware Kit 31
Fuel Pump Rebuilding Kit 31
Gas Tank Cap 31
Gas Tank Part 31
Intake Manifold Gasket 30
Intake Manifold Plug 29
Mass Air Flow Sensor 29
Pinch Clamp 29
Ported Vacuum Switch 29
Prom Calibrator 29
Rod Clip 29

H

Hardware 74
Backglass Clip 77
Chrome Trim Screw 76
Door Panel Fastener PB 75
Moulding Clip PB 75
Retainer PB 75
Universal Break-Off Type PB 75
Window Roller 77
Headliners 68
Package Shelf Material 68
Rear Sail Panel 68
Sound Deadening Material 68
Sunvisor Recovering Service 68
Heating 49
Control Valve 49
Core 49
Hood 45
Emblem 45
Insulation 45
Opening Rod 45
Release Cable 45
Seal 45
Spray Adhesive for Application of Hood Insulation 45

Interior Door Parts 54
Air Duct Hose 55
Door Hinge Pins and Bushings 55
Door Sill Plate 55
Drain Hole Seal 55
Glove Box 56
Handle Removal Tool 54
Inside Door Handles 54
Lock Buttons and Ferrules 54
Power Door Locks and Bezels 54



Index

Power Vent Window Gears 54
Sunshade Rest Grommet 56
Sunshade Sleeve 56

Vent Crank Handles 54

Visor Support 56

Window Crank Handles 54
Window Roller 55

L

Literature 73
CD-ROM 73
Chassis and Body Parts Book 73
Shop Manual 73

o)
Oiling 14
Adjustable Oil Pressure Regulator 15
Air Cleaner to Rocker Cover Vent Tube 15
Crankcase Vent Hose 15
Distributor Gear Oiler 14
Oil Filler/Breather Cap 14
Oil Filter 14
Oil Gasket 15
Oil Pan 14
Qil Pick-up Tube and Screen 14
Oil Pump 14
Oil Pump Kit 14
QOil Pump Thrust Plate Repair Kit 15
PCV Valve 15
Rocker Cover Plug 15

P

Push-In Wire Clip 74
Nylon Clip 76
Universal Wire Moulding Clip 76

R

Rear 1/4 Panel 59
Ornament 59
Ornament Clip 59

Rear Axle 39
Backing Plate Gasket 39
Control Arm Bushing 39
Cover Gasket 39
Oil Seal 39
Parts 39
Pinion Seal 39
Posi-Traction Additive 39
Posi-Traction Tag 39
Wheel Bearing 39

Rear Glass 57
Lock Pillar Seal 57
Window Seal 57

Rocker Panel 46

Roof 59
Landau Top 59
Plastic Side Moulding Clip 59
Roof Panel Emblem 59
Side Molding Clip Kit 59
Sunroof Weatherstripping 59
Vinyl Roof 59

Seat Belt 67
Sheet Metal 58
Door Panel Retainer 58
Floorpan 58
Rocker Panel 58
Shock Absorber 43
Spring 43
Coil Spring Insulator 43
Steering 40
Box Kit 40
Centerlink Rebuilding Service 41
Control Arm 41
Coupler 40
Front Wheel Bearings and Seals 42
Grease Fitting 41
Idler Arm 41
Parts 41
Pitman Shaft Seal Kit 40
Pump Kit 40
Pump Pulley 40
Pump Reservoir Cap 40
Stabilizer Bar to Frame Bushings 42
Stabilizer Kit 42
Tie Rod 42
Tie Rod Adjusting Sleeve 42
Wheel Stud 42
Suspension 40
Front End Rebuilding Kit 40

T

Transmission 32
Gaskets and Oil Seals 32
Speedometer Cable 32
Speedometer Cable Lubricant 32
Transmission Kit 32
Transmission Mount 32

Transmission Mount Rebuilding Service 32

Trunk 60
Emblem 60
Support 60

Trunk Lining 69

U

Upholstery Set
Full Vinyl Set PB 61

w

Wheels 37
Brake Drum 38
Caps and Parts 37
Constant Velocity Repair Kit 38
Driveshaft Part 38
Nut 37
Universal Joint 38
Windshield 50
Washer Part 50
Washer Pump Repair Kit 50
Wiper Hose 50
Wood Kit 66
Console Kit 66
Door Panel Kit 66
Full Interior Kit 66

80



7 g
FPERIRONLY ‘<O

/DE/QFOF/I/A/VCZ:/DFODZ/C‘/:; www.oldbuickparts.com
NEVER CHANGE POINTS AGAIN!

UPGRADE TO AN ELECTRONIC IGNITION. FITS ENTIRELY INSIDE THE DISTRIBUTOR.
INSTALLS AS QUICKLY AS CHANGING A SET OF POINTS. NO BLACK BOXES,
CoMPLICATED WIRING OR SPECIAL BRACKETS. ONLY TWO WIRES TO CONNECT.

IGNITOR ELECTRONIC IGNITION KITS NO. PRICE
8 CYLINDER
1937-1953 ALL Straight 8, 6 volt, negative ground..............coooeiiiiiiiiriiee e P11183N6 $82.25
1937-1953 ALL Straight 8, 12 volt, negative ground (original distrbutor) .........ccccccceeieeeninnn, P11183 $74.75
1953-1956 ALL V-8 Mechanical advance under baseplate.............. New Design - No Magnet Ring P11185LSC $69.50
1957-1974 ALL V-8 EXCth 215, 300, 340 Engines ................... New Design - No Magnet Ring P11181LSC $69.50
LO5T7-1974 ALL V-8 . tiiii ettt ettt e e ettt e e e e ettt e e e e bbb e e e e s anbaeeeeeannaaeeeen P11181 $67.50
1957-1974 ALL V-8 (IGNITOR 1) 1oeiiuiiiiiieiiiiiiee ettt e e e PI91181 [FiEwd  $95.25
6 CYLINDER
L3 e R I AN | PP EPTPPPRPRRRI PI1162A $67.50
1962-1967 V-6 ENGINE ...utiiiieiiiiiiie ettt e ettt e e e sttt e e e e ettt e e e s snbaeeeeesnnbneeeeas P11164 $67.50
1962-1967 V-6 ENGINE (O FIrE) ...uuveiiiiiiiiiiie ettt e e e e nnneeee s PI1165 $67.50
amt ] By,
HIGH PERFORMANCE COILS (40,000 VoLT WITH STOCK APPEARANCE) j'"ﬁ%”
1937-1953 ALL Straight 8, 6 volt, negative ground (BLACK).......cccveeveeeeeeiiiiiiinnnns PC45011 $35.75
1937-1953 ALL Straight 8, 6 volt, negative ground (CHROME) .........ccccccvveeeeeennn. PC45001 $44.00
1953-1974 ALL (BLACK) ....tiiiieiiiiiit e ittt et e et e et e et e e s snnnneeeas PC40011 $29.50
1953-1974 ALL (CHROME) 12 V...uvviiiiiiiiiiee ettt snee e PC40001 $37.50
1953-1974 ALL (FOR IGNITOR Il APPLICATIONS ONLY)(CHROME) 12 w......... PC45001 [iExA $44.00
1953-1974 ALL (FOR IGNITOR Il APPLICATIONS ONLY)(BLACK) 12 v. ........... PC45011 [KiExq $35.75
COil BIACKEL ...ivieeiii ettt ettt e sb e et sae e ae e sraeere s CB350 $6.75
COll Bracket (CHROME) ......cciiuuiiiee ittt et e et e e anbnee e CB350C $9.50

HIGH PERFORMANCE SPARK PLUG WIRES

Low 500 ohm/ft. resistance with spiral wound alloy to suppress electromagnetic radiation plus redundant cur-
rent paths.
V-8 7.0Mm STOCK-LOOK Custom SET

1960-1967 Special, Skylark, GS (EX 1967 GS 400) ........ccceiiiiiieeeiiiiiee et PW708103 $39.50
LT B e L5100 | R PW708103 $39.50
1967-1966 Lesabre, Wildcat, Invicta, Electra, Riviera

All 364,401,425 ENQINES....utviiieiiitiiieeeeeiiiee e et e et etaae e e et e e s eaaree e PW708105 $39.50
LGl 1T 1010 PW708102 $39.50
1968-1974 All 350, 400, 430, 455 W/O HEI ....ovvviiiiiieieeeeee et PW708102 $39.50

6 CYLINDER 7.0mm STOCK-LOOK Custom SET
LOBB-LO74 ALL ...ttt et e e ettt e et et e e PW706101 $39.50

02/07




Cars, LLC

=]
205 Pearl Street
www.oldouleKparis.com Neshanic Sauor, il Syt
Telephone Number: 908-369-3666 Fax: 908-369-7595 Catalog Order Form
YEAR CARB.
NAME TRANS. |mhﬁfhgr—lm = varnc
H 3 "r' -— AL Le-R
SUPER, ROADMASTER L ?ﬁ}.ﬁ gy
SERIES POWER BRAKES HOREY HT £524 | TR LEREIE T L T
TRIM M yps—. =PRA JudiH M R -l
40,50,70,4800,ETC FF#PNT HE hﬁ_1_|‘_ ool Pkl HE T H
BODY STYLE POWER STEERING e :
ENGINE, CU. IN. AIR CONDITIONING
CREDIT CARD BILLING ADDRESS SHIPPING ADDRESS (if different)
COMPANY COMPANY
NAME NAME
ADDRESS ADDRESS
CITY STATE ZIP CITY STATE ZIP
DAYTIME TELEPHONE EVENING TELEPHONE

NOTE: ALWAYS GIVE STREET ADDRESS: UPS AND TRUCK LINES CANNOT DELIVER TO POST OFFICE BOXES.

GROUP PART PRICE |TOTAL PRICE
QTY |  NUMBER NUMBER DESCRIPTION EACH OF ITEMS

Credit Card Information SUB TOTAL
L visa L Mastercard | Discover US Shipping Add 10% ($9.50 Min.)
IMPORTANT: COPY ACCOUNT NUMBER FROM YOUR CREDIT CARD US Residential Delivery ($1 50/$250)*

COCICT0 T T T IO T T INJ Addresses Add 7% Sales Tax

EXPIRATION DATE MONTH D D YEARD D CVV2D D D TOTAL AMOUNT
3 Digits on Back ~ *Note: UPS charges extra for residential type delivery ($1.10) as well as an
SIGNATURE extended rural area delivery fee ($1.50). These charges are not well defined
by UPS and may affect your order total. We suggest you include these
NOTE:ADDRESS ABOVE MUST BE EXACTLY AS IT APPEARS ON YOUR STATEMENT  charges if you are unsure. We will gladly refund your money if not required.







wiea—— Membership/Renewal Application
OH'NEPS Assoc"“\o‘h

Riviera Owners Association, P.O. Box 261218, Denver, CO 80226-9218
phone: 303-233-2987 - fax:303-984-0909 - email: office@rivowners.org « website: www.rivowners.org

A non-profit membership corporation dedicated to the 1963-1999 Riviera by Buick

[J New Member [ Renewal: ROA # [ Prior ROA Member # (if known)
Name Spouse

Address

City State Zip

Country Phone ( ) email:

How did you learn about ROA? ~ [] ROA website [} Otherwebsite ] BCA [ Magazinead [ Referral [} Other

Rivieras Currently Owned (ownership is not required)

Model Under

Restoration Medified Custom

Year (GS, etc.) Mileage Color (in & out) Original | Restored

Benefits of Membership MULTI-YEAR RENEWALS
« Membership card, decal and club cards. US: 1year = $35.00

2 years = $65.00
3years = $95.00

« Six bimonthly issues of the Riview, our 36-page color magazine
with Technical Tips, Members Showcases Classifieds and more.

- Free 45-word advertisement per member, per issue.

« Access to the “Members Only” section of our website. Foreign: 1year = $40.00

+ Access to past issues of the Riview, posted on our website. (Air Mail) 2 years = $75.00

« Access to technical advice and our extensive library. 3years = $110.00

.

Participation in international and local events.
International Air Mail included.

.

Methods of Payment
1. Online payments are accepted by credit card or PayPal on our website at www.rivowners.org.

2. Checks and Money Orders made out to “Riviera Owners Association” or “ROA.” Applicants outside the USA
must use checks drawn on a US bank and made payable in US dollars.

3. Complete the information below to pay by credit card.

We accept: | Visa | ﬁ‘: Amount enclosed $
Acct. # - - - Exp. Date (MM/YY)
Print Name on Card Signature

Mail to ROA, P.0O. Box 261218, Denver, CO 80226-9218






Ordering Instructions

ORDER BY TELEPHONE, FAX or ONLINE
Monday through Friday, 8:30 am to 5:00 pm.
Saturday 9.00 am to Noon. Please call in advance.
Telephone: 908-369-3666

Fax: 908-369-7595.

ORDER BY MAIL. Please use Catalog Item Order
Form, giving complete information requested. Order
by Part numbers. If you do not have enough space
use back of the form or on a plain piece of paper.

Shipping and Handling Charges

Shipping, Handling and Insurance charges are shown
on the order form. Add 10% to orders under $100.00
but not less than our $9.90 minimum shipping charge.
We pay shipping on orders over $750.00 of in-stock,
non special order items by within the 48 states (Not
included are custom made items, rebuilt or special
orders). Large items (fenders, hood, etc.) are shipped
freight collect by common carrier. Foreign Customers
please add 20% to order for shipping and handling.
Additional shipping charges will apply to large or
heavy items. (All Air Shipments, Blue Label, etc. are
additional).

Means of

Payment =l P
S e T2

Personal Checks:

We will gladly accept your personal check and will not
hold it for bank clearance if you provide your drivers
license number on the check and we can obtain
approval through a nationally recognized check clear-
ing service. Should such approval not be obtained,
we reserve the right to hold personal checks pending
bank clearance.

Foreign: All orders are payable in U.S. funds only.

Damages in Shipment

Damage in transit is the responsibility of the delivering
carrier. Retain all packing materials and immediately
contact CARS, Inc. to file your claim. Do not return
damaged items to us as further shipping will result in
the loss of claim settlement.

™

Guarantee - Returns

Your satisfaction is very important to us. If you are not
satisfied with an item please phone and tell us why.
We will accept any returned item within 30 days of the
sale (call first to obtain RMA) provided it is in good
unused condition and is returned prepaid with a copy
of our receipt. Parts returned through no fault of
CARS, Inc. will be subject to a restocking charge. We
will then (at our option) replace the item or refund the
original cost. Not included in this policy are custom
made items such as yard goods, carpets etc., electri-
cal items, and some used parts. Labor charges are not
refundable. Returns will effect discount and free ship-
ping programs. Absolutely no claims/returns can be
made after 30 days

Items returned without RMA approval # clearly
marked on the outside of the box may result in loss of
any return credit whatsoever.

Back Orders

In the event an item is not in stock at the time of the
order, we will back order until the item comes in or for
30 days at which time you may request a refund.

Subject to Change

All prices, part numbers, specifications, policies and
terms are subject to change without notice. All parts
subject to prior sale. Always double-check when
ordering. Not responsible for errors in print.

Large Order Discount

We will extend a discount of 10% on orders of new
parts totalling over $1000 paid for by cash, personal
check or US postal money order. Excluded are custom
made items and all services. Friends and club mem-
bers should find this advantageous by combining their
orders to meet the quantity discount. All items, how-
ever, will be shipped to one address. Actual shipping
charges will apply.

DEALER INQUIRIES WELCOME

CARS, Inc.

205 Pearl St.

Neshanic Station, NJ 08853
Main: (908) 369-3666

Fax: (908) 369-7595

Website: www.oldbuickparts.com




L
/ = <
n
. D |
| E IN HEAD ’

CARS, Inc.

205 Pearl St.
Neshanic Station, NJ 08853
(908) 369-3666 Phone
(908) 369-7595 Fax





